=
<

a(d cot(d))

1072

B DU I ) W | O e T

10

Ratl

0.95
TP n (PCA to beamline)

5)
©
=
S
k)
=2
o
1072
Y PP P I A O | P A
o103 i ]
kS E | |
@ L : 1
h=------ s - dede F ; EEEEEE
0.95L i i i L i
=3 -2 -1 0 1 2 3
TP n (PCA to beamline)
—=— DQM_V0001_R000000001__Global__CMSSW_mkit50i4_RECO
—— DQM_V0001_R000000001__Global__CMSSW._mktt50i5_RECO
—— DQM_V0001_R000000001__Global__CMSSW_mktt50i6_RECO
5
2
=
<
3 .
o 10
o}

) S e I N A T A | I PO
g bk 5
o L H 1

1_— ------ .:mmmmu Em ------
0983 =57 1 0 1 2 3

TP n (PCA to beamline)

~ 1
g :
D_)—
=)
o

010 T B L A
g : : :
@ :
| R -1t .
098351 0 1 2 3

TP n (PCA to beamline)

z

oo a,) (cm)

1074

........

TP n (PCA to beamline)



	Contents
	Page 1


